Algebra 2 Quiz 1 Review

Name: KM . Date: Hour:

!

Solve each equation.

1)6x—5=3(x+2) 2) 4w +10=6wW-13
Gy-5= A +lo R3B = Sw
PO L= ,
@_11/5 or 5@&7‘} .......
3) 2k -3m =16, solve for k 4) A=0.5h(a + b}, for h
Ak =3m +1lo O0.5larby
K:Z’/zm'%f, o - ‘

R
Y+5 =zl X+tS=-12
reni ey
7) 3%+ 7} = -15

No SQ\UﬁDhS

relation is a function. If it is a function, determine if it is one-to-one, onto, both,
or neither.

%) 012) (3:4) (56) (7.8)) Funchon? Yes! (No vepeats in _doma.iﬂ
D:81,3,5,7% One-to-one”. Jes! (No vepeat s in ronge)
R:§2,4.6,85  onto? Vs (No exti- range values)

10) {(0,3) (0, 5) (4, 10) (5, 1)} |
D:fo, 4,5 Funchon? No!

R:§3,5,10,13

M A{-40) 3,3) (1) (-2, 5) (3, -4) _ 5 |
DL E-4.31,°2% Funchon 7 No.

B 51,50, 5,0)

12) Find each value if f(x) =-3x + 2

al f4) b) f(-3). o) fow) \
-3} + 2 -3(-3)+ 2 -3(2) *

1232 q+2




Algebra 2 Quiz 1 Review

State whether each function is a linear function. If it not a linear function,
explain why not. '

13) 3x + 4y =12 14)y=x-6 15) (IX)+3y=-5

neos N ot Linear N ot Lineas~
Lj o{lj X > (ipemuy; O"F y X>

16) The distance the Green family traveled during their family vacation is given by the
equation y = 65x, where x represents the number of hours spent driving. How far
does the Green family travel in 8 hours?

V:®5(8)

17) -4x < 24

<G

18) 4 - 7x = 2(x + 3)
4/’7%“’2&'?@

19) -p - 13 < 3(5 + 4p) -

~p134]5+1p R

,.p«l5<;i?.>+i2p
~20< 13p

20) 2m -7s -1t
2Am< 4




